SAP ABAP table TBKKG2 DATE PL {Settings for Date Calculation in Planned Orders}
FIPR_PRODUCT

TBKKG2 DATE PL-PRODINT = FIPR_PRODUCT—PRODI_I}I"_F_U N MANDT [CLNT (3)]

-7 PRODINT [CHAR (18)]

- FIPR_PRODV

- MANDT [CLNT (3)]
~" TBKKG2_DATE_PLVERSION = FIPR PRODV-VERSION _ PRODINT [CHAR (18)]
/ 7= 7 0-N IVERSION [NUMC (3)]

_--" XACTIVE [CHAR (1)]

—_—

] T000
TBKKG2 DATE_PL-MANDT = T000-MANDT o
e L 0-N [MANDT [CLNT (3)]
"~ TBKKG2 DATE PL-BKKRS = TBKK01-BKKRS

____________________ TBKKO1
TBKKG2 DATE PL-CAL ID1 = TFACD-IDENT ~ 0..N | MANDT [CLNT (3)]
o BKKRS [CHAR (4)]
TBKKG2 DATE PL-CAL ID2 = TFACD-IDENT . N TFACD

IDENT [CHAR (2)]

—_
—



